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Research on Scheduler for ProActive-based Parallel Computing

DONG Minggang %, LIANG Zhengyou *
(1. College of Computer and Electronic Information, Guangxi University, Nanning 530004,
2. Department of Electronic and Computer, Guilin University of Technology, Guilin 541004)

Abstract ProActive is popular in parallel computing and grid programming, however there isn't a suit scheduler for ProActive-based parallel
computing. This paper proposes a scheduler, and all technologies are introduced. Realized scheduler is used in a ProActive-based platform for
parallel computing. Experiment demonstrates it is feasible and valid.
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